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In Question Paper Booklet, four option (A), (B), (C) and (D) are given for the

answer of each question, in which only one option is cotrect. In OMR Answer
Sheet, darken that circlé completely among the given four circles against each

«question, which is the correct oplion according to vou.
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The candidates are allowed to take avray the question paper booklet with them.
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Prefafe 3 & i v e
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19.

20,
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(C) WEarass el

(D) =fesares wm
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(C) Tl & (C) e o e
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22, e H o e a2 aee Rem '
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(A) & 3 T e e
(8) TRy | (A) W
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(D) swfer - | o A
. (D) 3= &
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(A) G+ BT
(8) oW + T
(C) GIE + Jod |
(D) G + BRI
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26.

27.

| .28,

29,

TR (MATHEMATICS)

w2 Ui o HenaE o dn e
(A) 15
(B) 20
(C) 25
(D) a0

p B S
E+§+§_mmi :

® 3

3
(B) 2%

1
(©) 135

o
(D) 35

45 ﬁ#ﬁ:,ﬂaﬁrﬂ%mriﬁﬁmﬁmﬁ#:

(A) 50%
(B} 25%
(C) 75%
(D) 10%

afE v @1 @ IEI 60 HieT 8w 3w
T @7 &Ee B

(A) 118 o Aex
(B) 225 #rex
(C) 226 o1f Aex
(D) 240 T Hiex
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26,

27.

. 28,

29,

Sum of first five odd nurmbers is :
(A) 15
(B) 20
{(C) 25
(D) 30

1 1. 1
Thevalueuf113+sis.

™

3
(8 2

;-
€ 135

1
() 30

What percentage of 45 minutes of
1 hour is * :

(A) S0%

8) 25%

(C) 75%

(D) 10%

If the perimeter of a square is 60

meter, then the arsa of that square
will be :

(A) 118 meter
(B) 225 meter
(C) 226 meter?
(D) 240 meter?




i

30, Ui v 25 3R A0 T AETH HEOE 30. Ifthe HCF of numbers 25 and 30 is

(HCF) 5 @ ol eTges HIaed (LCM) 5, then the LCM will be :
& :
(A} 120 (A) 120
" (B) 130 (B) 130
(C) 140 (C) 140
(D) 150 (D} 150

31, = O & S 9 5 S 00 B 31. Which of the following Roman

W o # numerals represents 90 :
(A) XM - (A) XM
(B) LXK \ ' (B) LXXXX
() xc ' : (C) x¢
(D} CX : (D) CX
32. e 738207 quia: Rk anfr - 32. The number 738207 will be
_ completely divided by
(A) 49 (A) 4
(B) 6% ~ (B) 6
(C) 7% - o ' (Cy 7
(D) 9% - : (D} 9

33,. T550 E% o o 4% Tk s B 33. Simple interest of ¥ 550 at the rate of

© g% Y VT ST B Y 4% per anum for 2% years will be:
(A) T 110 : (A) T 110 '
(8) 55 co (B) ¥ 55
(C) T44 - = {C) T44
(D) T 22 ' ' (D) T 22
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34.

35.

36.

37.

38.

ves o # Frsarsil o <o B 8 -
(A) Huet v '
(8) &

(Cy TR

(D) FFFa

46890 7 4 % T w it s TR

'ﬁﬁFﬁtif

(A) 4000
(B) 40000
(C) 39996

(D) 29969

23 oot eerwera 5 B :
100

(A) 0.13

(B) 1.3

(C) 0.013

(D) 1.03

ar wHer faw el @ Aeew
wmadw

(A) 0

(B) 1

(C) 2

(D) 3

Gl ISR 7, WG 159 woT ¥ 1 &,

G "IIETETIT[

{A) 1071
(B) 1070
(C) 1072
(D) 1065
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34.

35.

36.

37.

38.

£l

The number of radius in a cirde is :
(A) - Only one

(B) Two

(C) Four
(D) Infinita

The differente between the place
value and face value of 4 in 46890
B

(A) 4000

(B} 40000

(C) 39996
(D) 39969

: 13 -
'I_'he decimal _\ralua gf 160 will be :

(A) 0.13
(8) 1.3

(C) 0.013
(D) 1.03

The HCF of two consecutive odd
numbers is :
(A) 0

(B) 1

(C) 2

(D) 3

If the divisor 7, guotient 153 and
remalnder |s one, then dividend will
be :

(A} 1071

~(B) 1070

(C) 1072
(D) 1065

£ L
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39, v Yun =ws & e g an &

40.

41.

42,

(A) 1
(B) 2
(C) 3
(D) 4

&t 8 sl # po @t W B

(A} 73
(B) 60°
(C) 50°
(D) as5®

et & U 300 T | I §S
2 um ¥ o5 gE TN T B
D o o

(A) T 120

(B) 60

(C) T 150

(D) ¢ 180

oft v [we 1 o, diers v Hies
5T 20 ¥4, 15 T, e 5 9, #,

| Y qRTE 3 TG B

(A) 300 & .
(B} 300 ¥,

(C) 1500 ST,
(D) 1500 B L.
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39. The end points of a line segment

41,

dare =
(A} 1
(B) 2
(Cy 3
(D) 4

. In the given figure, value of p® will
+ ba

in7®

(A} 73"
(B} 60°
(Cy s0°

. (D) 45°¢

Shahil had ¥ 300. He bought a book

fram [t= % part. What was the price
of the book : '

(A) T 120

(B) T60
(C) T 150
(D) T 180

If the length, breadth and thickness
of a book is 20 ecm., 15 cm. and
5 cm. respectively, then the
volume of the book will be :
(A) 300 cmd.
(8) 300 cm.
(C) 1500 cm.
(D)} 1500 cm?.
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5
Ln
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*i15 5 10 45 5_

(D)

W g &1 afE aw 5 ued 35 e
T T &, ﬂ“rﬁnmﬂﬁﬁﬂ'ﬁﬁr
TR

(A) 12 : 35 39E

(B) 1:553NNE

(C) 1 : 05 3TE

(D) 13 50 HRE

76
15
65
15
75
15

()

. T BT

(A) 90° &5 TRET
(B) 180° & @R
(C) 180" ¥ feme oFf 360° A &0

(D) 90° ¥ TH

; iy ¥ it ot s @l & -

(A) 1
(B) 2
(C) 3

(D) 4
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43.

45,

46,

i0

&)

A school starts at 7:30 AM, if It
works 5 hours 35 minutes, what
time does it close :

(A) 12 : 35 PM
(B) 1:55PM
(C) 1:05PM
(D) 1:50PM

Simplest form of
4 1 32 ic 16
[?E“ﬁ] [45 5]'5
EE
15
E
15
65
(C) 15
75
0 1&

(A)

Reflex angle is ;

(A) . Equal to 90°

(B) Equal to 180°

(C) More than 180° and less than
360°

(D) Less than 90°

'l;he number of vertices in a cone

(A) 1
() 2
(€ 3
(D) 4




48.

(A) 14 T,
(B) 1130
(C) 10,
(D) 1237

mmﬂﬂmmﬁwﬁm# aE

. 288 fl. gl 9 =00 -

40,

30.

(A) 2O H
(8) 3qug #
(C) 4 aud &
(D) 59 H -

aft wa ¥ra v 550 o Resa g

% 600 B, A o wiewa -

1
(A) 937 11

(B) 55

' 1
(C) 455

1
() 37

ATH BT SITERRT BT 2

(A) Tad . dtend . Fe

c (B 2 (T 4 g « Sun

(©) (Fend . 5w « S8
(D) FF H o T8l
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47.

lem.

In the glven figure the perimeter will
be:

(A) 14 cm.
(8) 11 cm.

_(C) 10 am.

(D) 12 cm.

48, The speed of a car is 20 meter/

49.

50.

second. It will travel 288 Km.
distance In ;

(A) 2 hours
(B) 3 hours
(C) 4 hours

(D) 5 hours

If cost price is ¥ 550 and sales price
s ¥ 600, then the profit percentage
5

(A 935

(B} 511

(© 3=

1
(D) 37

' The volume of cuboid is

(A) Length x breadth x height
(B} 2 (Length + breadth) = height
(C) (Length + breadth) x height
(D) None of thesa

[ Turn Over-



51,

. B

' 53.

6% -

e argaT (MENTAL ABILITY) .

e (v ¥ 51 9 55 T9) : e
we & oW Gaw e #) G
i e fEi T T s A wm &,

o oo g 9 T &1 ey Foraea a1

o)

(A) TET
(B) g
(c)
(D) IH

(A) U=
(8) fereehy

(C) =R
(D) wRGEvs

(A) THRET
(B) Tl

(C) s

(D) BRER

(A) 5-26
(B) 8 -85
(C) 6 -37
(D) 9 -83

(A) FFEe

(B) BEQ v
(C) =&

(D) emé
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5.

53.

55.

12

(D)

- (A)

Directions (Question No. 51 to
55 ) : Four options are given in each
question. Three of them are similar
in some waf and one is odd. Find
the odd one.

Mars
Earth -
Sun -

WVenus

(A)
(E)
L)
(D)

Punjab
Bl gl

(A)
(B)
(C) Haryana

Jharkhand

Fanikhst
_’C':ha krata
Lansdowne

(A)
(B)
(C)
(D) Haridwar
5=26
B - 65
6 - 37
9 - 83

(B)
()
(D)

(A)
(B)
{C)
(D)

January
February
May

July




56.

fodfer (= EEN 56 W 60 W)

Tt wesii i weaTaw fug (7) i
T O o e B ) e d
ﬂ@mwmﬂﬁm

uﬁlﬁ:m::mﬂ
(A) TR AT

(B) HETHRA

(C) =de

(D) [TERR

i ﬂlﬂmzmﬂﬁﬁx:ﬂrﬁr:?

(A) T=EHaOET

- (B) REd ngaw

a8.

59.

(C) FEmm
(D) diE wgEE

aifer - 4w =AW : P
(A) T

(B) W
(C) ==
(D) e

W:W::ﬂm:?

' (A) YTEEW ST

[B}_ WETE
(C) weireg
(D) IS

+-ﬁ'EIT=3HIi'I§FI==IE='-i'I&IﬂT=?
- (A) e

(B} T
(C) IR
(D) WM
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56.

57.

58.

59'

60.

Directions (Quastion No. 56 to
60 ) : In the following gquestions, .
select the correct option from the
given alternatives which replace

question mark (7).

valmiki : Ramayan :: Tulsidas : 7
{A) Ram Charit Manas

(B) Mahabharat

{C) Rigved

(D) Sursagar

Badrinath = Chamoli :: Gangotrl : ?
(A) Rudraprayag

(B) Tehrl Garhwal

(C) Uttarkashi

(D) Pauri Garhwal

Eye : See :: Tongue : 7
{A) Hear

{B) Feel

(C) Taste

(D) Smell

Gujrati ;: Gujrat :: Udiya : ?
(A) West Bengal

(B) Jharkhand

(C) Chhatisgarh

(D) Odisha

Goitre : Iodine :: Anaemia : ?
(A) Vitamin '
(B) Blood

(C€) Iron
(D) Protein

[ Turn Over]




61.

62.

63.

P (e wismn 61 | 64 w) ¢
FormaferRen vl & v sjaen 47 7 2,
e & e U o 9 fer e ot
H ¥ siEw

4, 9, 16, 25, 36, .........
(A) 49

(B) 30

(C) 42

(D} 25

11, 13, 17, 19, 23, 25, .......
(A) z8 :

(B) 29

(C} 30

(D) 26

20, 21, 23, 27, 35,
(A) 48

" (B) 51

(C) 43
(D) 49

. ABNQ, CDPQ, EFRS, ........

(A) GHTU
(B) HGUT
(C) HGTU
(D) GHUT

14
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61.

62.

63.

' (B)

Directions (Question No. 61 to
64 ) : In the following questions a
sequence Is given, Select the next
teim of sequence from the given
alternatives, :

4,9,18, 25,365, ...
(n) 49

(B) 30
(C) 42
(D) 25

11, 13, 17, 19, 23, 25, ......
(A 28
29
30
26

{C

)

20, 21, 23, 27, 35,
(A) 46
(B) 51
(C) 43
(D) 49

. ABNO, CDPQ, EFRS, ........
{A) GHTU

(B) HGUT
(C) HGTU

{D) GHUT




o (we=r W 65 W 66 @) ¢
FpfriEs weml # o & A IE o
v few e Tl # < i =i e
3 fardt 17y i el et 5 ey Favdysen
TuR -

65, W, 9IS, T, ...,
(A) FFTET
(B) FEIRER.
(C) TR
(D) wH=T

56, TrekTE, wEe, I, .

(A) ERaR
(B) g
(C) TEE
(D) e

7. T Fost Gtk WHTH BAD @ 214,
EGG &1 577 771 T4 & off BAG @1
feraT Te-

(A) 271
(B) 217
(C) 721
(D) 712 .

68, T aisies Wi H DOG ) EPH Rram
St & 2 CAT @ férer Fme -
(A) DBU
(8) BUD
(C) DUB
(D) TAC

65.

6/.

68,

RGNV/19
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Directions (Question MNo. 65 to
66 ) : In each of the following
questions, choose that word which
has the same reiatran!';hip among
the given three words-

Bhopal, Panafi, Patna, .......
{A) Amritsar

{B) Allzhabad

(C) Raipur

(D) Baroda

. Pithoragarh, Champawat, Nainital,

(A) Haridwar
{B) Almora
{Cy Chamoli
(D) Uttarkashi

In @ certain code if BAD Is written
as 214, EGG is writteén as 577 then

BAG will be coded as -

(&) 271
(B) 217
() 721
(D) 712

"1 a certaln code If DOG is written

as EPH, then CAT will be coded as-

(A) DBU
{B) BUD
(C) DUB
(D) TAC

[ Turn Over]




69.

70.

X

71,

"Ta.
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TR 4=A5=B,6=CAN7 =0
1, @1 7654 frar som-

(A) CDAB

(B) DCAB

(C) CDBA

(D) DCBA

~Frer € 7§ sl 3 et e Pregor € -

(A) 5
(B) &
(C) 8
() 4

STt v 3 Py ort O & @by
I 3 (Wae mE) 7 e -

(A) Electric

(B) Elector

~(C) Electron

(D) Electrode

Frefrfen demEi f e B o &
5 i vee oun 3 @k & fiam
wa i
589759739206596393
97

(A) &

(B) dF

(C) W@

(D) TR

69,

70.

71,

g ¥

L

If4=A,5=B 6=Cand7=D
then 7654 will be written as -

(A) CDAB
{B) DCAB
(C) CDBA
(D) DCBA

How many total l:rlang!éns are there
n the following figure?

<

(A} 5
(B) 6
(C) 8
(D) 4

In the following words, which word
will come last in English dictionary?

(A) Electric

(B) Elector
(C) Electron

(D) Electrode

In the following numbers how
many 9 ,are preceded and
succeeded by an odd number -
SB9759739296596393
97 B

(A) Two

(B) Three

(C) Seven

(D) Four




i

ﬁmﬁ:‘!}ﬂﬁﬂﬂ‘ﬂﬁﬁﬂﬁﬁ ﬁm‘u&

73.
&t & W T T ST E -
(A) 60°
(B) 30°
- (C) so°
(D) 45°
74, i i 3 diF= & o dsaw dei o=
iz el €, wEmn € - '
(A) TEERT
(B) HiwmER
(C) wmmerl
(D) & & af T
75. Fve R fera o w0 BT ¥ E,
3 TR ST T -
(A) Efmxd
(B) " ¥
(C) SaEai &
(p) Wl d
76. ﬁﬂﬁﬂdﬂ#m{mw
altoE# -
(A) .- ¥ - g
(B) = - faes -
(c) wra - BeEr - Wew
(D) s - TfFT - 591
RGNV/19

3,

. The angle formed by hour and

minute hands of a clock at
3:00 pm would be -

(A) 50°

{B) 302

(C) 90°

(D) 45°

74,

75.

Living beings depand nnrunh-r plants
for thelr food are called -

(A) Omniverous
{B) Camnlvorous
{C) Herbivorous
(D} Nong of these

School is related to student in the
gume way as Hospital is related to—

{A) Doctor
{(B) Nurse

{C) Medicine
(D) Patient

. Which one of the following not

friake a correct food chain -

' (A) Grass - Buffalo - Elephant

(B} Grass — Desr - Tiger

(C) Grass - Glnassi‘-nﬂpe'r' - Frog-

(D) Grain - Rat - Owl

[ Turn Owver]
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78.

79,

" 80.

ot 3 & e i (o) =i -
(A) GUE! TR WEE - TiERo

(B) #8= are - vdarEo
(C) Frexene ag1on - AT
(D) Firdrer fars Fiel - das (3

R e Wi B v R
gudd |
(A) wari Tl 3

(B) &M Heawi=a o1

(C) 4. #Rm =i

(D) =R T Fr

T # Rrifisa ¥ 4 ot
TR Y & w0 F o S e de
(A) eileer

(B) 7§ Rt

(C)

(D) T

BAT Wi R o aad aur e -
(A) gealy
(B) Wi

(C) qu
(D) ey

| T/

18

77,

78.

79,

80.

(D)

Which of the following is not
properly matched?

(A) Chandi Prasad Bhatt -
Enviranment .

(B)
(C)

-Bachhendri Pal-Mountaineering -
Sundar Lal Bahuguna—Politician

Girish Tiwari "Girda' - Writer
(Poet)

Who established the Eantllcunj' in

: Haridwar?

" (A) Swam'i Ramteertha Ji

(B) Swami Sahajanand Ji

(C)} Pandit Sri Ram Sharma Ji
(D) Swami Ra'mdev Ji

Which city is known as 'Sarovar Nagr
inthe Uttarakhand? ‘
(A) Nalnital

{B) New Tehri

(C) - Roorkee

(D) Ranikhet

The biggest planet in our solar system
5= : :

(A) Jupiter

(B) Saturn

(C) Mercury

() Earth




Py (7t e 81 9 85 ) : T ST H T R (=) 5wt 3 o sl &
i 3 oo el v weearess fee (2) &1 et 3iR o) sl o e @ arfge
St s el i ot R 3 &1 wemars e (?) & v @ A sph o, IR

sngpfrel 4 4 gl

Directions {Question No. 81 to 85 ) : In problem figure, two figures are there in the
left of the sign of proportionality (::) and one figure and a question mark (?) are
to the right of it. There should be the same relationship between the two figures
of right hand side as it is between two figures of the left hand side. Choose the

appropriate figure from the answer figures which replaces the question mark (7).

81. TN 3P (Problem Figure) FR IR (Answer Figure)

ﬁﬁﬁ_\é? I@@ @@

(A) (B) -(C) (D)
82. WWE P (Problem Figure) I HARBRT (Answer Figure)

ZANE b e Il L e
(A) (B) (C) (D)
83, TN S (Problem Figure) TR Fpi (Answer Figure) '

OOl 7| |A||R||R| |2
(A) B - (& (B)

84, EIEIT HREPI (Problem Figure) IO HTHRT (Answer Figure)

[HEAY % O 2 AOOLION
| w ® © O
85. mm@ﬁltp_mhm Figure) m_:mgﬁr{Answer Figure)

Wx || Xw || Uv | ? vu vU | | Vu uV

(A) (B) (C) (©)
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Directions (Question No. 86 to 90 ) : There is a problem figure in the left side and
-enswer figures are in the.right side. Choose the similar figure as problem figure

from the answer figures,

TR ST (Answer Figure)

AlAlA

il

gﬁf T Bl (Problem Figure)

_m_ é

_ w - ®  © ()
)7 mm@ﬁr{mmm Figure} - | IR HRBRT (Answer Figare)
N [N N AN
@ BEEE
o R 1] 2 o A
| (A) _IIE] (C) (D)
}B{'ﬂﬁﬁim{?mﬂam Figure) mm{hnmm Flgure) |
b X X XXX
(A) (B) (C) (o)

, /ﬂp./ AR AR (Problem Figure)

1

FE FPI (Answer Figure)

4

%

ha

(A) (8)

he

ha

(C)

(D)

T HTERY (Answer Figure)

2(( wreaT STERY (Problem Frgure;:l
e
0‘1& ' i - .

o
-+

; (A) (B)
RENV/19
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(D)
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Directions (Question Mo. 91 to 94 ) : In the fellowing questions, four figures are
given. Three of them are similar {alike) in a certain way and one is odd. Find the

odd figure.

SEPAN - 1L |

(A) (B Y (D)

(A) S | (c) (D)

03, | [aen _— \1 g e
Wy o o FE | . g

w . . ® (©) (D)
: b & A 4 | b WL
o4, |3 . : e s
5. T S . B . .
H'r" » ¥ W TR " —*

(A | (B) (c) (D)
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Directions (Question Mo, 95 to 97 ) : In the following questions, a problem figure is

given which is incomplete. Find the correct alternative from the given options
whicn complete problem flgure. :

gs. mm@ﬁ (Problem Flg.ure]l IR HTPIcT (Answer Figure) .
(X (@ &[]
) (8) (© (D)
96. T AP (Problem Figure) FT MG (Answer Figure)
V)| A JJ(
(A) (B) (C) (D)
97. WHT JRER (Problem Figure) IR IR (Answer Figure)
N N [ =
' (A) -~ (B) (C) (D)
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Directions (Question No, 98 to 100 } :

In the following guestions, a series of

problem figure Is given left. At the end of series there is a question mark (7).
Choose the figure from- answer figures to complete the series of probiem figure.

98, THEIT B {Pmbh:m Figure)

[

)

JER ST (Answer Flgure)

99, EEEN FTER (Problem Figure)

HEMWE

LW

(&) (8) i @

T iG] [ﬁ.nﬁwer Figure)

& 1A '

L' 1,00, I R (Problem Figure)

£

‘? :

n 0 (B) (C) (o)

. O FWERY (Answer Figure)

S0

oo

- RGNV/19.
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